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1. —ROEEMAR Y b ERIEERR Y FORREMEDEWVICOWTHRIZDBE Z 2B~ L,
Explain your opinions about the differences of possibility between the common industrial robots and the farm work robots.

2. THO~V=tal—ZOMEMKNEZRL, TOHREIZOWTRHHA LRIV,

Draw the arm coordination diagram and the operational space of this manipulator and explain the degree of freedom.

Arm coordination diagram Operational space

4. PWM (Pulse Width Modulation) O#EEZRTEOMIE 2R L, ZOEW L ICHEIZ 2T e Z 0y,
Draw the rough shape of the PWM wave pattern, and explain the meaning and some applied example of PWM.




RGeSl i R A A

Ak 28 A T HA
2 B 4 %z B OB K Z B & 5 K za
EENRE B
ik & R 5 =
i i IR A - i

Please choose one question and answer it.
UT 0RO —MZBRLTEZEL T ES0,

Q1. In Socio Ecological Production Landscapes defined in SATOYAMA Initiative, how natural resource management can be achieved?

BilA =TT 4 7 TEZINT SEPLs 1B\ T, BREFROERI LSO X ) ITERSNET ),

Q2. Please explain about USLE soil loss prediction model. In addition, please describe how ‘soil erosion risk’ can be calculated.

THEEAEETHET NV Tho USLE ROV THAL T s, Bz, THEEE) 27 BEOL S ICHES NI OMRB L T Eaw,
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Question 1
Ilustration on the right shows the components of energy balance on
a bare soil. Please describe an equation of energy balance on a bare H
soil and explain each component of the equation. ﬁ u ﬁ surface

Fig. Components of energy balance on a bare soil

Note: Each arrow means heat flux.

Question 2
Please show three irrigation methods for upland field and explain advantages and disadvantages for each method from

view point of effective water usage.
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